612

nRpiER SsECER sHLant » www.iwata-fa.jp  [EDP s%z51EH » monodukuri.iwata-fa. jp

UZFAByIN—=

QD poo

9

<

&
©

& @

”
’

iwata

HA FU—ILDIRIT LS PIERS [CTERVCEIFTE T,

avikoky147  LSPN-RH

1=k

211685

5

B imm
A—{ N
s J
. S_|_P_| \2:¢D
P M [0} E
( A = i ‘\HV—V [}
. o vy B _
o e T VT RS
o RARMARIS
W G£0.015 % S25C /Bt ®§(SI~(-:~/'\IA§—3%§*MW2$
Cl (SBRH6-40M.8-40M/P.622) -+ 175
‘ ARARHRILN(SUSXM7) 274
ZFLLZ SCS13 | DRI/ S—FILh
(SBRH6-40M.8-40M/P.622) -+ 17K
aviory47  LSPN-FH
BAL imm
= ]
-0
L s | p| \ZeD
N
17 =
) uf HE R HEE
W o RARFARILS .
V| G+0.015 % S25C Bt @;{sl\qyr\//l\ft_s%ﬁa’ém)...%
. (SBFH6-40M.8-40M/P.622) 17
RANFTARILN(SUSXMT) 274
ZFLLZ SCS18 | DRI/ S—HILh
(SBFH6-40M.8-40M/P.622) -1 4
avio k47 LSP-RN
B4 imm
] ]
R NZEANZY
L || s | p| \2¢D
® E
: » V=
T« 1 R
! HE S RENE fTRE&
" - AERMAIL
W G+0.015 % 250 Eskth @&Sﬁw—sf?:ﬁ*mmﬁ
c T (SBRN5M.8M/P.622) 17K
AENARIVN(SUSXMT) 24
ZFLLZ SCS13 |DRRy/S—HILh
(SBRN5M.8M/P.622) -+ 17%
avikovy«47  LSP-FN
B :mm
Hel A ]
R NZAANTY
L||.s | p| \29D
%\ E
(iE
I< -1~
o [T
ST j HERELE fTE&
pav-VNOE 7N
W G+0.015 (SCMA35/ Bt) 2%

B
O
= =L

$% S25C B0

DRNyIS—FIVk
(SBFN5M.8M/P.622) 17

272X SCS13

AR AIN(SUSXMT) -2
APy =K IR
(SBFN5M.8M/P.622) 17K




»P.6s6 R »P.740 »P.740

613

B Sk (B40) ZFULR
W|H| A | B|E|F|[G|C|[S|P|T| M@#E) |D e L e ey s ey
12]20(14.0[20| 7| 9| 4| 5 [14]12|32 M6XP0.75 | 45 | M4x12 | 44.0 | LSPN-01-RH | 2,300 |LSPN-01S-RH| 2,300
14]23[17.0(20| 8/10| 4 | 5 [16[15|38| M6XP0.75 | 5.5 | M5X12 | 44.0 | LSPN-02-RH | 2,360 |LSPN-02S-RH| 2,360
16(27(195(25|11(12| 5| 8 [19|17|44|M8XP1.0 |66 | M6x12 | 45.5| LSPN-03-RH | 2,480 |LSPN-03S-RH| 2,480
22(34(26.0(25|13|16| 5 | 8 [25(22|57| M8XP1.0 | 9.0 | M8x16 | 45.5 | LSPN-04-RH | 2,840 = =
B Sk (BZ0) AFULR
W/ H| A |B|E|F|G|C|[S|P|T| M(8E) |D P L o ) o e
12]20(14.0[20| 7| 9| 4| 5 [14]12|32 M6XP0.75 | 45 | M4X12 | 44.0 | LSPN-01-FH | 2,300 |LSPN-01S-FH| 2,300
14(23(17.0(2.0| 8(10| 4 | 5 |16|15|38| M6XP0.75 | 5.5 | M5X12 | 44.0 | LSPN-02-FH | 2,360 |LSPN-02S-FH| 2,360
16(27(19.5|25|11(12| 5 | 8 [19|17|44|M8XP1.0 |66 |M6X12|455| LSPN-03-FH | 2,480 |LSPN-03S-FH| 2,480
22(34(26.0|25|13|16| 5 | 8 [25(22|57| M8XP1.0 | 9.0 |M8%16 |45.5 | LSPN-04-FH | 2,840 — —
B Sk (BZ0) 2FIL R
WiH | A EIFIGICISIPITIMID 1Y [ 28 |aem| &8 |6e@®
12120[150 (20| 7| 9| 4 | 5 [14|12|32|M5|4.5| M4x12 | 40 | LSP-01-RN | 2,150 | LSP-01S-RN | 2,150
14|23[18.0 (20| 8|10| 4 | 5 [16|15|38|M5|5.5| M5x12 | 4.0 | LSP-02-RN | 2,220 | LSP-02S-RN | 2,220
1627 |195(25|11 12| 5 | 8 |19|17 |44 |M8|6.6| M6x12 | 55 | LSP-03-RN | 2,330 | LSP-03S-RN | 2,330
2234|260 (25|/13|16| 5 | 8 |25|22 |57 |M8|9.0| M8x16 | 55 | LSP-04-RN | 2,700 — —
B Sk (BZ0) 2FLZR
WiH| A EIFIGICISIPITIMID 0 1" [ 28 |eem| @& |6&@
1212015020 7| 9| 4 | 5 [14|12|32|M5|4.5| M4x12 | 3.5 | LSP-01-FN | 2,150 | LSP-01S-FN | 2,150
1423|180 (20| 8|10| 4 | 5 |16|15|38|M5|55| M5x12 | 3.5 | LSP-02-FN | 2,220 | LSP-02S-FN | 2,220
1627195 |25/11 (12| 5 | 8 [19|17 |44 |M8|6.6| M6X12 | 50 | LSP-03-FN | 2,330 | LSP-03S-FN | 2,330
2234|260 (25(13|16| 5 | 8 |25|22 |57 |M8|9.0| M8X16 | 50 | LSP-04-FN | 2,700 — —

UZFAbyiN—

= Ay e =

B

9

<

&
©

/]
’

iwata





